 PRIMARY FOUR QUESTIONS 
1) The place value of  4 in 89 430  is 
a) Ones

b) Hundreds 

c) Tens

Answer  b

2) Expand the number   using   place    values   98 067
a) 9000+8000+607

b) 90 000+80000+60+7
(c) 98 067 = 90 000 + 8 000 + 60 + 7
Answer c

3)  Add 21 650   + 32 146 =

a) 21 650
b) 32 146
c) ) 53796

answer  c
4) Subtract   2 573 – 1 395=

a)1178
b)1395

c)2573

answer a

5) Calculate 21 × 13=

a)253

b) 273

c)373

answer b

6)Calculate   6 × 10 000 = 60 000

 a)6000
b)10 000

c)60 000
answer  c
7) Divide     54 000 ÷ 45=

a)1200

b)2400

c)5400

answer a

8) Share 5000 notebooks   equally among 5 pupils .Each  children   will get ……notebooks

a)2000

b)2500

c)3000

answer b

9) What is the largest 5-digit number that can be formed from the digits 0, 3, 2, 4, 1, 5

a)324150

b)432051

c)543210

answer c

10) Order from the smallest to biggest = +5, –10, –4,–2, 0, +1, –3
a)+1,-2,-4,+5,0,-3, -10

b)-10;-4,-3,-2, 0, +1, +5

c) +5, –10, –4,–2, 0, +1, –3

answer b
